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The linearized expression of the estimator is: 






, where     and   are the residuals of the generalized regression model, being  the vector containing the values of the auxiliary variables, observed on the  hij household (h stratum, I municipality and j household) and , the vector of regression coefficients of the  linear model linking the interest variable y to the K auxiliary variables x.
It is possible to obtain an estimate of the variance as:

being SR and NSR indicate respectively the self-representative and non-self-representative strata.
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